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Isotopes and Atomic Symbols

Isotopes are two atoms with the same number of protons (atomic #) but different numbers of neutrons (different atomic masses).  Isotopes containing more neutrons have a greater mass, but because they have the same # of protons, isotopes of atoms have the same chemical behavior.

There are two ways to write out isotopes.  For example, Gallium (Ga) has two isotopes.  The isotope with 31 protons and 37 neutrons has a mass number of 68 (31+37 = 68), and is called gallium-68.  The isotope with 31 protons and 39 neutrons has a mass number of 70 (31+39 = 70), and is called gallium-70.  Chemists also write out isotopes using notation involving the chemical symbol, atomic number, and mass number, as shown below.
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A chemistry laboratory has analyzed the composition of isotopes of several elements. The composition data is given in the table below.  Determine the number of protons, electrons & neutrons in the isotopes.  Name the isotopes and give its symbols.

	Element
	Atomic #
	Mass #
	# of proton
	# of neutrons
	# of electrons
	Name
	Symbol

	Neon


	10
	22
	
	
	
	
	

	Calcium


	20
	46
	
	
	
	
	

	Oxygen


	8
	17
	
	
	
	
	

	Iron


	26
	57
	
	
	
	
	

	Zinc


	30
	64
	
	
	
	
	

	Mercury


	80
	204
	
	
	
	
	


An atom has a mass number of 55.  Its number of neutrons is the sum of its atomic number plus 5.  How many protons, neutrons, and electrons does this atom have?  What is the identity of the element?
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